N = 0l & At & Ml A

0178 S0& &= AMBSESH A
AN dot=SAFE A
M SEH0 HZZ Aot =EIMA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 11,281,534 7,672,655 3,608,879
Xl 3,398,000
[ia 7,883,534
SEXQ 222 Holx=E =HIMA 11,281,534 7,672,655 3,608,879
Xl 3,398,000
[ia 7,883,534
2 SSM (M-S ALSEIAH ) (4TSS 10,663,534 7,027,855 3,635,679
31
Xl 3,398,000
i 7,265,534
o S=3A 333,140 285,440 47,700
206 M= Hl 131,700 84,000 47,700
01 M= 4l 131,700 84,000 47,700
OAEI 2L 120, 0002 *670H 80,400
OdeE HEI E5& #+& 90,000 5704 51,300
401 AIEHI L 20HEI 201,440 201,440 0
01 A& HI 200,000 200,000 0
Oax=EZ=3 A 200,000,000 » 14 200,000
03 AIE =2 THHI 1,440 1,440 0
Oadx=EaS=ZA 1,440,000 1,440
LaaE S99 SFHAY 1,104,500 1,104,500 0
401 AIEHIZL 20 1,104,500 1,104,500 0
01 A& Bl 1,100,000 1,100,000 0
OYAUMLE Z47H HIHAY 1,100,000
03 Al 2 THHI 4,500 4,500 0
OUMMLE LA SHFAL 4,500
=2 HMoAmd 1,886,000 1,504,000 382,000
201 L2l 2,500 2,500 0
01 At 221l 2,500 2,500 0
ON%ZR OFZS4EA L 2227 A227
= gl 2,500
206 M= Hl 20,000 17,000 3,000
01 M2 4l 20,000 17,000 3,000
OHIAXTH -+ 20,000
401 AIEHI L 201 1,863,500 1,314,500 549,000
01 A& Bl 1,850,000 1,310,000 540,000
a2 IEE7 2 AEES X2 200,000
Oz SE3AIY 100,000
O=22 WHIA 800,000
OLFAHEIN & 253 WHMBA 100,000
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SN dot=Z A A
M 8N 222 HotxE HEIHA
Hel: HE2 SSMS (AN SEIAN )Y AESERA) (22 &d)
SN B SH(EA) - NRAY - BAS of & o4 SSa HIDZ2
206 M =8l 15,000 5,000 10,000
01 M= dl 15,000 5,000 10,000
O=2A & A=I 7 5,000
OHI&XH R (EZ, Y A28 &)
10,000,000& 1 10,000
401 AIEHI L 2 CHYI 910,000 297,000 613,000
01 AlZHI 910,000 297,000 613,000
Ol=X =ZA=I £X 32,000,000%39H £ 96,000
OL=AE HESA 70,000
Otfi=Xl MEa-H X (da, &Y, Fot)
35,000,000& *2H 2= 70,000
OF+& MSHO FNE+ 20,000
OLNEXc3E sstME &4 10,000
OdII&LHl &3 At 10,000
OBMIF+& NSHOAHALE FAE+ 37,000
OZdEZT =&H Ha 30,000
Ox=T A" ZAIEH 2X% WH(CCTV) 17,000
Ogdd+=d x=ZA=I &X 17,000
oo B2 & olgae 228 &X 33,000
OLdI+d Y2ZHMAHLH EXSA 500,000
d=8 =Z22e 218,378 203,748 14,630
201 fEt2E | 47,778 46,448 1,330
01 At2 22l bl 47,778 46,448 1,330
O=ZBA 43,178
— =2 F A 35,0003 x522= *20H 2 3,640
—EEANM 960,000& »12& 11,520
— =2 EZA 3,200,000% *43] 12,800
—ggs M 2,500,000& 23] 5,000
—ole2 SRANES FEAM
537,000& »42 2,148
—HilEEHbrE 190,000& 33| 570
—Hold A BHs8 3,000, 000& *23] 6,000
—JIEHOIAEQARS) BHL42
1,500,000& 1 1,500
O+SSEILDN 223 22
4,500,000 =13l 4,500
O=E A EIotg oY 100,000& = 1& 100
206 M =4l 92,100 83,300 8,800
01 24l 92,100 83,300 8,800
ONEA U 2SFSUNT 2HAARY
110,000& *30& *23| 6,600
O&F=HelH =& 260,000& »100= 26,000
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AN dot=SAFE A
M SEH0 HZZ Aot =EIMA
S 22 BIMY(HLTALSHIN)(HLTMASHEN) CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
Oi=%E(NELMUES) 7o
230,000 100 23,000
OUILAIE SHENFE 457 (7E)
10,000, 000& =1 10,000
O=ZA=I 2235 7¢ 9,500,000 9,500
O&¥3+% BHEZ 2¢ 10,000, 000& =1 10,000
OM+4, 48 428 2
2,000,000 »14 2,000
O&IIMME ¥ 4SS |X2el AP
2,000,000& »14 2,000
OM+2 U AL 2B GHHFY 7
3,000,000& »14 3,000
307 gl2tol & 38,500 17,000 21,500
05 BIZERIE 3 38,500 17,000 21,500
OZF=+=& MEHEHII=S XM
8,000,000& 14 8,000
OB4+% MEH+ S A M2l 89
9,500,000& x1H 9,500
O=EA& 3IIE8E 24 21,000,000*1& 21,000
401 Al HIZ 2018 40,000 35,000 5,000
01 A& HI 40,000 35,000 5,000
Obi=X &#A(23/H) 40,000,000& 14 40,000
T A2 21 36,800 36,800 0
201 Let2d] 31,800 36,800 A5,000
01 At 22l 16,800 21,800 A5,000
Oax=E10XAN £ ey &3 € EUY
5,000,000 »14 5,000
Od=+=ZIXAM E8E ZelH #d
500, 000& *33] 1,500
OX4+E23 INAN SEIX RF Y
300& »500H « 122 1,800
O AEZ XSOIH =2
7,000,000 x 14 7,000
Oa=Lt &% S ML 1,500,000& 14 1,500
02 =224l 15,000 15,000 0
O3 ML T2 |FANES
15,000, 000& » 1 15,000
405 XHoHF S HI 5,000 0 5,000
01 HtAtH ESFH S 5,000 0 5,000
OLDXNAN &8 Z2le & POA 7
5,000,000 1 5,000
S3He z2tel 620,000 620,000 0
201 Let24d] 600,000 600,000 0
02 =24l 600,000 600,000 0
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2N Aol AIE A
HH: EBHQ MR MGLE 2BHM
G U222 ZSAL (AT AMNIBEEHIH ) (AT AIHESES| H) (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
o axiu42 600,000,000 14 600,000
308 XAHXIGHHM SO0l & 20,000 20,000 0
07 AIXISHHZ2tEES 2 20,000 20,000 0
O3ty 2e 22 20,000,000& =14 20,000
TYAST B2 A 90,000 90,000 0
307 212t0| & 90,000 90,000 0
05 QIZtREZ 90,000 90,000 0
Oatx= HE E 90,000,000 =14 90,000
ol g1 4] 144,000 159,000 A 15,000
801 ol bl 144,000 159,000 A 15,000
01 LBtoldl bl 144,000 159,000 A 15,000
Ouolgl gl 144,000
N4 e 172,500 85,980 86,520
201 gEt24Ay| 157,500 85,980 71,520
01 AP 22| d| 7,500 2,980 4,520
OmZgly ey 94373729 1,500
OZTEH |2l 1,000
Os2g8 M 5,000
02 2324 150,000 83,000 67,000
Oatot4e== g3l d| 1,000,000 13| 1,000
OXNsx K5 6,000,000 1 6,000
OXNS X Sl 2,000,000 =14l 2,000
oo = 35,000,000 x14 35,000
ObfE=RX 2 Ald2 dIIZ2 56,700
OlAZ2LANBHE2 49,300
405 XHAHFEIEHI 15,000 0 15,000
01 XAt 2B F S| 15,000 0 15,000
OsX&es 7Y 15,000
SOlE MESAWL(2LXR) 2,214,286 1,780,457 433,829
N 1,550,000
= 664,286
401 AIEHI 2L 2 0H L] 2,214,286 1,780,457 433,829
N 1,550,000
= 664,286
01 Al&H| 2,206,315 1,770,668 435,647
O2AXN P sHEMNMESHE HEAY 2,206,315
Xl 1,550,000
= 656,315
03 AlE 21| 7,971 9,789 N 1,818
2AXNP sHEHES S NEAS
2,214,286,000%0.35996% 7,971
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SN AT AIY A
M SEH0 HZZ Aot =EIMA
S 22 BIMY(HLTALSHIN)(HLTMASHEN) CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
N DEHX2AANELEX NE 1,142,857 557,000 585,857
Xl 800,000
s 342,857
401 Al Bl 28I 1,142,857 557,000 585,857
X 800,000
s 342,857
01 A& Bl 1,138,742 553,491 585,251
ONEF=HelAEEX AT TR T 1,138,742
Xl 800,000
= 338,742
03 A& =TI 4,115 3,509 606
ODNEHEHIANLLR
1,142,857,000& *0.36% 4,115
SHEMEESNY (ZXXF) 814,286 0 814,286
Xl 570,000
e 244,286
401 AIEHIZ 2 OH L] 814,286 0 814,286
Xl 570,000
e 244,286
01 A& HI 809, 155 0 809, 155
OLdXNFAsoHEL2E N 809, 155
Xl 570,000
[ia 239,155
03 Al 201l 5,131 0 5,131
OYFN RSO EMBEENL
814,286,000+0.630% 5,131
SHEMEBE2NL (22X F) 357,143 0 357,143
X 250,000
[ia 107,143
401 Al HIL 2T Y] 357,143 0 357,143
Xl 250,000
[ia 107,143
1 A&l 354,571 0 354,571
OFINFsHELBE SN 354,571
Xl 250,000
e 104,571
03 A& S THHI 2,572 0 2,572
OR+N TS EMS LI
357,143,000%0.72% 2,572
SHEMEESNL(Z2EXF) 325,714 0 325,714
Xl 228,000
s 97,714
401 Al&HI & 28I 325,714 0 325,714
Xl 228,000
s 97,714
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o}

i

K

o)
<0
ro
3D
K
D

<+

-

<0

)

4]
4]

(M=

(=}
[l

)
2l x

[=}

2| %

e
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